FNERKETHESBAMFUREIRE S 5

FF5 RERR (= REIGN | RRL)
1 AE4E 25 35 K007 S R e HE 2 IR —ER
2 HRN A= 3 o S A0 B AT 52 5 I SR 4 FHW IR —EFR
3 Rig 5208 DR il AT FEZHE IR —HFR
4 BARBUA U E TR BN N ERLE F IR —&ER
5 AT A g i) 45 # DL AL BE 7 KI5 A IR —HFR
6 AR LREE 7 AR 552 55 08 B 355 15 BURE #% Eligrsy 2 IR —HFR
7 il K (VA5 [ B Ak i) T IR —&ER
8 T B e EIE R F 5 E(ES —%K
9 BAEBUAE A AT MM 15 ER(ES —%K
10 G075 B v B SO« B ARARIETR I i BRI IR —ER
11 WOEH T e R S EEUA A R G R SERT T /N IR AR
12 S AR AR e BT ST TEE IR AR
13 BRI DR TN S G IR AR
14 AR R B AR SCAL AT B K IR AR
15 AL RF 5 R FSFERIL B EAREINR ) — IR —ER




SRR BN ) AR TR TR A K Bl WK AR

P HUM R I Ry R AR AR T2 PN WICE AR
SLAERE N ERGE R o RERRSER o SERHERK LR (&S AR
HARKFAECDIVIR R E X EE 5] S0 5 2= 1 (&S —EER

H E IR CE 8 s AR IS AL 5 N0 SR ZEK WICE 4

B AT OS5 NI AR TE e R A HHEFES WK AR
[BAHCE A5 B 20 K e ik & WK AR

H AL G KR I BUR & BT 0 PUVAE:S WICE 4

BT AT AR T AR b DX AR R Ml R A A R RIS (&S AR
AL YRR QIR AL SRR K R @R S IE AT L W OH WK AR
“H7 R D —— AT AR ] e e 56 X 1R AR T B o E (S 4
NHEZEAE = N RE TR RS R R E X HRIL EN(EES AR

e A AV S O A R B T [GIVES FER AR

57 8 1113 73 B SEAE BT 7T AR FER 4

TEIBZE 55 i A A ki 5 BUR A S5 ik W EN(EES AR

Eig AT MRS 50 BN PeE Mg +E X 2 IR 55 B S * & [ARIES AR




W B ARE TRE K P WK =%

EXIIYNRSERTAIE ¥ Stk =Y & Ny Ty AN WK 14

“HEVRE W EEBOGBOE BHIETE fid 4 &S =%

BAEMEITE: SRR R 1 A AE TSR [ S0 Wk =%

B B ——A “EB LA RE! WK 14

2o T SO A R LA R SR Kk &S =%

VG 75 2 op AR BOA HOE BT A o RS =R

“HEMR TSR RR L] IREE. AR SR 1D WK = 24

REAAEBUR OB O e A 5 30 E SR NI &S =%

O AT HE o~ R B A 5 I PF NS &S =%

o A O T PR AL IR T R B RN A B IR KA WK 14

O agers st and beevious in Changetun Ciy il provines, Chna | 9716|8308 | =%

Did China Effectively Manage Its Foreigr} Exchange Reserves? Revisiting the Currency £ o9l e sy
Composition Change

i SR i T2 50 2 o &S ER(EN =R

HA “Jad)a” e sE s — EFER® x| At FAER =ER

SEANE AR 2 012 KR ER(EN =W

SRR B FEE 34




50 FEE 2 A IR EG 2 IR ST B BCCRATE 7T HEEZ ER(ES =R
51 AP E LA R BT 52 SIS LSEIEDT 5T RUPAL e =R




